IS MBS TR HCA=Pr 2028

g Qe
@/fer: w3
(F) A 2= AT
TS | S EIEEECERR YLl
G
> 2Ry LTS 0 @A IR -3
N fror eifsrs 3feT affire forfv 59-98
) PR @ 2ife CFNT{@I 89-98
8 g = A FI 9¢-%00
¢ Aoy e e e 37 509-309
b ™ fzer «ife mfzer 330-5%0, 33E-33b,
SO5-5¢q, SVE-59¢
() SEIE SIS
R ANBH
9o % 0%
() LTHR LA @ THIIDBA
(i) B SErRe
SOFE 4A: f#11S; sjfes: Soo
Fq2COCHS 9N (Item name) TT IRATT | (T /G Bl
e ad (5¢fB gaiiFe @ yoft uF T Ted) Neq SxRE=¢
FE-Beq &N (Short question) (sofs e soféx Tex fte 2w) o 3xd0 =20
© T!
THAES o (PU7IGRRIA) Essay type question (Without @&x9 =>¢
O
situational) (¢ (e ©f5d Tex fte 203 1)




THAEE o (PeueitfTed) (af e ¢ Ten frrs =) ¢ bx¢ =80
Essay type question (situational)

2ifsfB ver=cha f[iice 7o =i AR

1 oo © TOf

*y00 TRCES WY P A 990 0% G FTOI6 Tl I |

(i) PRI EoR
ZCHCE AW (Iteam type) fdifae 99/ ew@ms
SIS /AR F& (Assignment/Practical work)-«afs e w3t 2 S0
AL 16T/ 24 /2fStama S5 (inventory work, project S0

proposal, report presentation) - €Ff6 A TYAT 7L

g IS (ANFBCE AFRMS GFF @ TePle FIe, T 247, I 77, S0
IO O) - G0 FCE A 7L




At aFf6 M FHTal 9% NN THA@S ACNE 9% [TH@T F97a tefd

FAEY | FASNEE AT TH¥a 292 IIRE FAT I AT
2038 PR TR AR TN @

B

T Qe
(e O + TR
- © TOI; - Soo

[oniicE Al
RICING

[Re*a GBa7: IR e 7oF/(FE TSAb Aom Gl (3-5¢) TR GF ¥/ 9T AT TGF FTedl
(Su-2¢) | &fsfs araa 1= S 1]

> | T (AP 1S IFRINER Nl FCATFIFO T 0T O 01?2

. ST e <. el fe
o, (I @ 9, TR R
3 | SPRAY *twd &fire TwiR (F«l?
3. SPRTAT <, SCHIRERT
o, STRreTl . SIC*TETT
© | ‘@IS TR A (RICET B G (BRET I07 IR #I0C - 03 R TF2piet (o
. @IS AFCA <. 9w (2ICOT ©1%
o1, (BT IeT 9. @IS AHIC, (GRET 707
8 | AIY (T ORI AW (BTY (MR- ICHIA WS *HTCE I T2
. AR =<1 4. foqrds ==
o, =g q. IS foqds ==
@ | PR ST TR SR A6 (I #0772
F. *pol <, e
o, PG 9, (T
Y | IRHIAN=ARE 1% = T (I FL-yre T T2
%, W4 ¥, faom

7. J=R 9, Sl



q | S SFA e (PTG
3.9 9. Y
o, of €9
b | A AN GIZS RERCR 064 @I 02
3. @ Wifor (ST =0T 2 <, SISl 3TCF 0K (B |
9. (OICF I FACS 2, N ST (ST 9. SoAfe AT =T 0 |
o | %12, &I, AN, ALAS, A, IRFS -9 =G ST I Sl AT RC3-
3. 9gNfs, &N, 127, A, e, WRF© 3. WA, o, A=, =177, e, FRFS
. SIS, &1, G, *=F, TFo, e 6. wLAife, A, AeHI1, 1=, AAC, TRFS
so | f&res BoiT w51 ePTife 2 IS Pt IR 40 2 T @ @ Ty 0 S B 12

5. 37 @ <, SFRY @fT
o, &7y e 9, WE @
“q It ', (18 @M 51T Wtz AR of of+i-
ST T A IS PGICT 4 Bt 1”7
5 | DRRCY ‘(& N (@ O[3 STl qCHCR ©f FeI-
i. SRR (et i, o<ifSTed e S[El i viRd S =@
e @G Afow?
3. i8ii <, 8 i
o, i @ ii 9.1, ii $iii

R | CAMC @RI 68 @ YRR OICF ACeT-
<. fefafer NG
o, A2 q, T

“Cife =TI GTT; AT I o FoTCA,

Y8 (O WY Zrowif (A9 e M

T (M9, P (A, (A3 S {18 Fere !

@2 NGTS 5B (SN S & |

39 | FIROREH ‘UM (BRI e (T pis efewire 2ra0R ©f 2e-

i. I S ii. 3% fgea g iii. I CATICe S
b @G Afow?
3.0 9ii 4. i @ jii
. ii @ iii i, ii g i

8 | ‘COTNRT @A ATY BT e W G2 IREAR AT 6T T3 — FIT GIRNTT AR @ IR FRT 2



3. ToAIfe <, FErordife
o, eFfedife T, eridife

“oEre WF A (@ 92 IFT T 4
T 49, VW ©F, 8 (F AT T |”
3¢ | BRRCH AT SO (@ ©OIIF elf ST qHTR ©f Zel-

i. Ap™ ii. Mo iii. =<
faeea @mfs fowse
EOWRCHT < i i
. i 8 iii i, di g i

SY | AR I3 (AT, e TA8.... - TfEfbre omm i A Izs zwmwe?

59 | WA SIS T @fwoa T e

Sbr | O *07a APlo-erory =14 |

5o | WAER *wF Afire SHRe @74 |

20 | TYLE HHA NI AP JI?

S | AT FOR ¥ 5RelfS @7

223 | AT FTOR &S BICHT (@I 5 (107 N q30%?

Q0 | (T AR, YT FM WG FCRACR.... - A FANOA g FAMG (F T
38 | GfER AR RS beiftbafba wi e

¢ | A G TR e AlfReera Affbfowrs 38w wm Ji?

TOAETE SR*
T q¢
[ ©F =it Sfefe FReT elta e o | G2 TR T8 MY '8 bieTo SRAIfen e vad ]
MFE-Teq &Y

S, TIRT @6 FoF <5 6 T 1., I R/ @74 |

3. @ N R AT AR (7L FeA FACR (T2

o, S o= A1 AR e, SR et - AANGAL SR A I T 2
8. ‘(AR (RANSTAT AGCR | T4 Wit Areeg aAfsfe 1'- Sfebre I e (rwe?

¢. ‘8 @R[ G2T] A I F (GF | GICE TG (GNP W - PR S 51457 34 |

V.~ T @A AR3 e zmE 71 o wii- wfbw @@ F @R 2wee?

q, CAfReT Yo I 02 T A |

. Y A “ Y N . O



b, ‘T TR0 IAY TGS ST (T I AR (o2 3
5. ‘@ S SR LT, *FMCF WMF ICT @ T4 A, (7-2 =00 203 I |-G JROT @140
0. ‘I3 FUCTF (BT 0T (FICAT IHI-FET T2 - 0o B I IRACCR?
TS ] (PG RR)
@ (FICT ofb 2THF Ted wie |
5. fICER *Mrenz (A TIH-AS ¢fF *19 0o @7 I G- PRI 0T | ¢
3. 6% ITRCICS (@I (RO WG TIZS JRCR O PR (5102 | €
. Topib e T (I (7R T |
. S0F N = =2 FACE |
iii. CCGTP BIC (I0Y TR |
iv. ETHG 27— 03 RG ¢oF9 |
V. S[F (AYCS -7 WA LS (7 TSI $IR ¥/ |

39, fT6T *MLTER I W& I @0 | €

8. F 9, (SN I F41eT | IS (ST GFAIFI &< I GG (2178 | SPIRR TIETER A WIers
B8 of¥; &y foeoe EaeteT Reavary e (oot a=ieieea Site @it Scaweeia 1Ll | (Reaey ez Toge
FISC, @I Sra=y, sHfca=-~fzf3fen Kaet, el ¢ sryefen e ¢

3¢. RTIRFTE @11 FICE ICeT? *I7 (A0 Fiqol @RIHTP R @741 I I (@2 IS WS ¢

AT & (PTAGTTER)
@ @ ¢fo dreF Tex ms |




. T, BAER BRI ST A 303 =RE e ok et/ fanmea vgefr admr w1 8
4. w4 T 2R e ol efefem are wta @pfl REgeETe T el | 8

59, FRAMIG #tE fNCb et Teq wre |

RIRT ARFTF 4R : TG AT AGHNG IPNRR s (@ (K@ (@ TFoa IR (AT affslie TFom
(T IR Ty P F7-7141 | foFme Gilnes® ea@m TRICAE Y 27 7 @ TFoR o9 S Sifers
SPTCR | @A fof (reates S niig i FRIe Qe @ TR ey Al A w31 IS ey 2R 36,
OY (AR Fol IR TS (At U 3For [oqel o w6 |

3. [T AaTR <F@fbre Mt FeR @ O af o qwChz ©f AT 9 | 8

¥, & O(3F 7RI O (O SRPIT*R MR W0 Frofd ~IfRFwe =7 of 3641 4 | 8

Sbr. SECERMTS TG 06T et R Ted w1s |

AT FICHR T SRR AT 92 929 403 TSI APTENICS PRI IF PR | GTRI OF T© PRIOS *o[f4
ARG QRIS @ 2 AR €11 | SR G NZAARN AFTE AR 0O BRI T IR (A | 58
Y AT FIAR AR IS ([ A | ORT @ G SIvd FICH AR N T I (= IS I |
TR GF [ 0a EIHIR AfStr oItg (SItel- 28 & T G -9 &e5d I0F e |

F. (@ AE ST, 79 AT, SRV NG AL TGRS AW (FI 0 (A 56T 7% 41 T 7707 39 18
<. (SR TS, SANEW (GIERT AT APTCIR NFTFa NCOl (ST TS (AF B FAA F I 20 A2 8

5. IO T 67 et Ted wie |
IS R A 217, SIS e AT A
IS S e v @2 a4 A
oISy qrear iR 7y Sy e <ife 9@
IfS G IR RS #I02 R0GR GO6T 77
I SR GIRAW T AT I
I GF117 R IREE @R R e 1L
3. FTORG TOmET @RI Ny BRSO A (@I M (e Aol 71 9 | 8
<, IO @B WS T Fiorfba taf ey fRusme 32 | 8

20 | LT 0@ TFT, 3038 | CITHPHY ST GINF! WRACS TG GBIl | (orsifan s T [Rwretcea
I T T SRR A SR S @ fre @wte 515 Fee I (2t @@ 2 | 58 preEee
G TR wfTrs AT =3 R 37 | fHfdre ST fvafes-



T, oty farfeeet oz | = et e e e S | | A
SN | (ST PR S B (T N | ALACT TS T 01 ARCS e e

AT T | SANCAT OIZAT SANAT O AT G FIFCTT PG | T @ o Fis 01 6 @60 208
AT T ST ST 3 I Shee oSy

AT (Y AGAC (O TR T AR, SProc fecemens G forers e ST AT GO

oz, @5 efsafin RACAR, A T=CRT TIOBT, THRT SRS Tr TR |y s ey ey e e gy ek
fovrs; 4 T Mg, T A VIR R
TS AR, O N (AT 6T AT W | G (O] TACO AR | o, o o T T ey S

IR YOI OF I AL TS X 0T AT (AT AT (O @7 (J0q [ or wso ey ork s 37 g ey TS

oy e eATEr T gt (U A aner A
Aqcem TSl Tgre WEF @B | @ WA &y few G [ o R T e
(1R 2FF© WA | S I ([06 1 67 O3 38 1 (0 70 20 1 GROW e sy s oy e e =0 ity o s ap

2/ T &= T 512 | i tffer ey Sl g s R
N - Apeti
3. SR B Ate (o S Fre 36 w9 8

<, IR 1Y @3 TR A AR [EEER Al A2 (GO &f e TE- Nee AT 79 | 8

T TER
BT fe
fa: qreEm

Tegeiq PRI fQeany ez

o RAFIAT TGF T TSGR TIT HISA TS T | AN T6F @ T G (B Sl
ST 3T ART =S 2 |

o WS T SO (FICA e HoF TeRe AFCS “IMF | TEI7@ FHRAFAICE AAFIAE oS K8
Teq RIbAR T w99 &I A0S J(A |

o TGT TR (A AT =1 BT, AT A0 @ TAGT (F*IT QW@ T T (AT oy 2emS
eI |

o AR eErIfere B SRR FTITS AT & WA Gy oI TH AT | GTE S/ (NEF) T (S
AR AT




E:'_*@i P O[] W
S | L. SR @
Q| 9. ST

© | 9, @& ABIC, (BReT 07

8 | 9. umife fogrde ==

¢ 1 4. e

Y | B, L

93,9

b | E. S ST oRH e |
5 1 . A, ar, ArEAifs, =171, FFfo, e
Yo | ¥, SFRY @

S 1AL igiii

S | o, A=

NN R RCRTT

58 | 9. T*idifS

S 1. i 8ii

S | Teifredife/welerraife / Ferife
59 | SICAE-S=IETel e

S I+ /T

S5 | CARTRY

20 | B U8 @ (@R

RS | G UL (BT J0YI (G [ ST (7R |
32 1 78I 8 vgd 53 ity

Q9 | BW

38 | G (A T

3@ | #RT T AT



Annual Assessment 2024
Subject: English
Class: 8

Assessment guidelines for conducting annual examinations 2024 for
the secondary level education institutions

1) The annual assessment of classes 6, 7, 8, and 9 will be done through written
examinations based on the National Curriculum 2022 of NCTB.

2) The annual assessment format for the classes 6, 7, 8, and 9 will comprise both
summative and continuous assessment.

3) Out of 100 marks allocated for the assessment of each subject the summative
assessment will carry 70% weightage while the continuous assessment will carry
the rest 30%.

4) For each subject, the annual summative assessment will be carried out through a
written examination of 100 marks. The marks obtained out of 100 marks written
examination will be converted to 70 marks and, these marks will be combined with
the marks obtained from the continuous assessment having 30 marks to calculate
the subject-wise result out of a total of 100 marks.

5) a) The continuous assessment as outlined in the subject-wise guidelines must be
completed in each education institution before the annual examination.

b) All records of students’ performances in the continuous assessment must be
gathered and stored properly.

The subject-wise guidelines for conducting continuous assessments must be
followed properly.

6) The total time allocated for conducting the summative examination including the
objective part will be 3 hours.

7) The subject teachers will develop the question papers for the subjects they teach
following the sample questions provided by the Ministry of Education for
conducting annual examinations while ensuring due level of confidentiality.

8) The Heads of concerned institutions in collaboration with the subject teachers will
take the required measures for conducting annual examinations and ensure due
level of confidentiality.

9) Teachers who develop the questions/test items are also responsible for providing
the sample answers to the open ended and/or more subjective type test task.

10) The schools will provide answer scripts for students to write their answers in the
summative examinations. However, no separate OMR sheets/answer scripts will be
provided for the objective items. Students will have to write the answers to the
objective items in their answer scripts.

11) Assessments for the specialised subjects under Madrasah and VVocational steams
will be held in the same method as they were conducted before.

12) Assessments of all subjects of class 10 will be held in the same method as they
were conducted before.



Subject-wise guidelines for conducting annual summative assessments for the
academic year 2024

Subject: English
Class: 8

(a) Guidelines for developing questions

1. Questions should be based on the competencies/skills and knowledge focused in
the experiences of the NCTB textbooks as prescribed by the syllabus outlined in
this guideline.

2. Questions on reading and grammar must be set from the unseen texts which should
similar to the relevant texts given in the textbooks in terms of level of difficulty,
genre and style.

3. Tasks for writing part need to be set considering the type of writing students have
done in the classroom. However, no writing tasks/topics should be copied from the
textbook while setting questions.

4. Question setters need to provide the sample answers and rubrics for marking the
essay type/open ended writing tasks.

(b) Syllabus for annual examination 2024

Experience | Title Pages

6 Introducing Someone Formally 79-95

7 A Hole in the Fence 96-116
8 Life in the Woods 117-137

(c) Assessment format

Learners will be assessed on both continuous and summative assessments.
However, the formative and summative parts of assessment will carry the weightage
as shown below-

Continuous Summative

30% 70%

(d) Continuous assessment: Task type and marks distribution

Teachers must give prior notifications to students explaining the details of when and
how the continuous assessments will be conducted.

Teachers must select the mentioned items for CA from the given syllabus.

The concerned teachers also have to keep a record of students’ performances in
various Continuous Assessment tasks and compile the final grades for the Continuous
Assessment part obtained by each student by the end of the year.



Name of Items/Tasks

Marks allocated

Home work: As specified by the teacher 10
Classwork (individual or group works, completing 10
tables/charts/flowcharts etc. as given in the relevant
Experiences (see the syllabus in section B) of the textbook
Project work/Assignments as specified in the relevant 10
Experiences (see the syllabus in section B) of the textbook
Total 30
(e) Summative assessment: Task type and marks distribution
Type of Examination: Written
Full Marks: 100
Skills/Competencies Type of Test Tasks/lItems Number of | Total
covered Items marks
Reading MCQ 5 Ix5= 5
(20 marks) Short answer questions 5 2x5= 10
True/False 5 Ix6= 5
Matching 5 Ix5= 5
Appreciating literary text | Summary writing 1 5x1= 5
(Poem) Identifying metaphors in a 5 2x5=10
(20 marks) given poem
Grammar Using cohesive device 5 2x5= 10
(30 marks) Right forms of verb 10 1x10=10
Using non finites 5 Ix5= 5
Using time adverbials 5 Ix6= 5
Writing Writing CV 1 10x1=10
(30 marks) Writing paragraph 1 10x1=10
Writing formal letter 1 10x1=10
Total 100

N.B. Question setters may include alternative items of similar nature and
level of difficulty to give options for the candidates to choose from. Thus
candidates will have the flexibility to choose any one out of the three tasks.




(F) Sample question for the written test as per the prescribed format

Annual Summative Assessment-2024
Sample Question
Subject: English
Class: 8
Time: 3 hrs Marks: 100

Part A: Reading

1. Read the following story and answer the questions that follow:
The Wise Merchant and the Golden Grain

Once in a small village in Korea, there lived a wise and kind-hearted merchant named
Chulsoo. He was known for his generosity and fairness. Chulsoo had a younger brother
named Hyunsoo, who was greedy and selfish. While Chulsoo worked hard to trade goods
and help the villagers, Hyunsoo spent his days lounging and scheming how to get rich
without effort.

One day, Chulsoo received a rare golden grain from a traveler as a token of appreciation.
The traveler told him that the grain had magical powers and would bring prosperity to
whoever planted it with good intentions. Chulsoo, being wise, decided to plant the grain in
his garden. He took care of it with great dedication, and soon, a magnificent golden tree
grew in his garden. The tree bore fruits that turned into gold coins when they ripened.
Chulsoo used the wealth to help the poor and improve the village, earning the love and
respect of everyone.

When Hyunsoo heard about the golden tree, he became envious. He demanded that Chulsoo
should give him the tree, but Chulsoo refused, explaining that the tree only grew because it
was nurtured with kindness. Determined to have the tree, Hyunsoo sneaked into the garden
one night and dug up the tree to plant it in his own yard. However, the next morning, the
tree had withered and died. No matter how hard Hyunsoo tried, the tree wouldn't grow again.

Realizing his mistake, Hyunsoo went to his brother, ashamed and apologetic. "Forgive me,
brother," he said, "I was blinded by greed." Chulsoo embraced his brother and said, "Greed
destroys, but kindness heals. Let's work together from now on." From that day for, the two
brothers lived in harmony, and the village prospered.

A. Choose the best answer from the alternatives: 1x5=5

i) He was known for his generosity and fairness. What is the opposite word of the
underlined word?
a) self-seeking
b) kind
c) benevolent
d) lavish
i) What happened when Chulsoo planted the golden grain?



a) It disappeared.
b) It grew into a golden tree.
c) Itturned into gold coins.
d) It withered and died.
iii) How did Hyunsoo react when he heard about the golden tree?
a) He was happy for his brother.
b) He ignored it.
c) He became envious.
d) He decided to plant his own tree.
iv) ‘Realizing his mistake, Hyunsoo went to his brother, ashamed and apologetic.’
What is the closest meaning of the underlined word?
a) sympathetic
b) argumentative
c) remorseful
d) disgraceful
v) What lesson did Hyunsoo learn at the end of the story?
a) Greed destroys, but kindness heals.
b) Hard work pays off.
c) Money is the key to happiness.
d) Family is not important.
B. Write answers to the following questions
2x5=10
a) Why was Chulsoo respected by the villagers?
b) What did the golden tree symbolize in the story?
¢) How did Hyunsoo feel after the golden tree withered and died?
d) What did Chulsoo say to his brother when he asked for forgiveness?
e) How did the relationship between the two brothers change at the end of the
story?

2. Read the text about a peaceful morning and answer the questions that follow:

The morning was serene and calm. The first rays of sunlight gently touched the dew-covered
grass, making them glisten like tiny diamonds. Birds chirped harmoniously, filling the air
with their melodious tunes. A cool breeze whispered through the trees, rustling the leaves
softly. The village river, flowing quietly, mirrored the clear blue sky above. People were
slowly starting their day, some heading towards the fields while others were opening their
shops. The distant sound of a temple bell added a sacred touch to the peaceful atmosphere.
Everything seemed in perfect harmony as if nature itself was at peace.

a) Read the statements and write whether they are true or false. If false, give the
correct answer. 1x5=5

i) The first rays of sunlight made the river sparkle like diamonds.

i) The birds chirped harmoniously, creating a noisy atmosphere.

iii) The village river mirrored the clear blue sky above.

iv) People were rushing to start their day.

v) The distant sound of a temple bell added to the chaos of the morning.

b) Read the text again and match the things in column A with their characteristics in
column B. 1x5=5

| Column A (Things) | Column B (Characteristics) |




a) Dew-covered grass 1) Peaceful atmosphere
b) Birds i) Tiny diamonds

c) Flowing river iii) Clear blue sky

d) Temple bell iv) Melodious tunes

e) Morning v) Sacred touch

c) Read the text again and write the summary of the text in your own words. The
following points must be mentioned in writing your summary. 5

e Focus on main idea

e Use of own words

e Keep it brief

e Maintaining the original meaning

3. Here is a part of the poem ‘Ode to the West Wind’ by Percy Bysshe Shelley. Read it
and identify the metaphors used in the poem. Use the following table to complete the
activity. 2x5=10
Ode to the West Wind
Percy Bysshe Shelley

Make me thy lyre, even as the forest is:
What if my leaves are falling like its own!
The tumult of thy mighty harmonies

Will take from both a deep, autumnal tone,
Sweet though in sadness. Be thou, Spirit fierce,
My spirit! Be thou me, impetuous one!

Drive my dead thoughts over the universe
Like withered leaves to quicken a new birth!
And, by the incantation of this verse,

Scatter, as from an unextinguished hearth
Ashes and sparks, my words among mankind!
Be through my lips to unawakened Earth

The trumpet of a prophecy! O Wind,
If Winter comes, can Spring be far behind?

Comparing Metaphor Reason to use the

Line of the poem Person/thing (Compared to) metaphors

Part B: Grammar— 30 Marks




4. Read the following passage and identify five cohesive devices used in the text, and
analyze the purpose of using them in the sentences. Use the table below to complete
the activity. 2x5=10

Trees are a vital part of our environment. They have, in fact, great impacts on the climate.
But we are not kind and careful about them. Rather, we destroy trees at random. As a result,
one day the country will bear the consequences of the greenhouse effect. Since ours is an
agricultural country, our economy depends largely on agriculture. Moreover, trees play a
vital role in our climate. Besides, trees keep soil strong and protect it. After that, trees save
us from floods and many other natural calamities. Furthermore, trees provide us with timber
which is of great use, especially in construction works and making furniture. Thus, trees are
our best friends.

Cohesive Device Purpose of using it
a)
b)
c)
d)
€)

gH|IwN e

5. Complete the following text by using right form of verb.

1x10=10

Self-study is a method of learning where students take charge of their own studying outside
of the classroom, without direct supervision. This (a) —— (allow) the student to take
control of how, what, when, and where they (b) —— (learn).This method of studying (c)
—— (be) preferred by independent learners because they can take learning into their own
hands. They (d) —— (assess) what information they need, find the resources to (€) ——
(complementing) their learning, and complete their assessments at their own pace.

Anyone can (f) —— (incorporate) self-studying in their own learning practice, not just
independent learners. Self-studying is also quite useful for anyone who may not have the
time to (g) —— (enroll) in formal courses, or cannot travel to institutions for those courses.
Self-study helps (h) —— (building) a student’s confidence in learning.(i) —— (Manage)
one’s time and priorities helps make self-studying more effective. Students are (j) ——
(allow) to be self-motivated and less reliant on teachers to direct how and when they should
study. With their autonomy, students learn to plan and become persistent with their studies
thoughtfully.

6. Here is a story of Maria. There are some gaps in the story. Now fill in the blanks
with appropriate non-finite verbs (Gerund, participles and infinitive).  1x5=5

Maria was determined (to finish/finishing) her project before the deadline. She
knew that (to manage/managing) her time well was crucial. After

(to plan/planning) her schedule carefully, she began (to work/working) on the
most challenging tasks first.

While (to complete/completing) the initial stages, Maria realized she needed
some help. She called her friend, Sujon, (to ask/asking) for advice. Sujon
suggested (to break/breaking) the project into smaller, more manageable parts.



Maria found this advice helpful and decided (to follow/following) it. As she

continued (to work/waorking), she felt more confident. By the end of the day,

she was able (to see/seeing) significant progress, which motivated her
(to keep/keeping) going.

7. Read the following sentences and identify time adverbials. Then write new sentences
using the same adverbial for each. 1x5=5

Yesterday, Rafiq went to the market in the morning to buy fresh vegetables. Every Friday,
he visits the market early to avoid the crowds. Last week, he couldn’t go because of the
heavy rain, but he made sure to go this week. Later that day, he prepared a special dinner
for his family. Next weekend, they plan to visit his grandparents in the village.

Part C: Writing

For questions 8-10 learners should strictly follow the textbook to develop their
writing on different issues.

8. A reputed social service organization named Green Friends is willing to appoint some
skilled and qualified gardeners for their ongoing project. They want eligible and sensible
co-mates with SSC and 2 years of working experience in this field who will facilitate and
support all aspects of gardening in the project.

If you think you are a suitable and qualified candidate for this post, write a CV for the
job. 10

The following points must be mentioned in your CV.

create a header with contact information

include career objectives

provide educational details

provide your relevant skills

describe your personal information and personal attributes
give 2 references

9. Read the story below. Try to assume the topic of the story. Then complete the activity
that follows. 10

In the social system of Bangladesh, children have to depend upon their parents and family
members for their well-being. The state cannot ensure completely their basic needs and
social security. Children are the most unprotected, vulnerable, and weak segment of society.
Child marriage is a perennial problem. Though it’s a global problem it is more alarming for
Bangladesh. It is treated as a massive violation of girl’s rights because due to early marriage,
they cannot continue or complete their education. Child marriage is such a problem that can
pose a threat to the whole society. In most of the cases, girls are victims of child marriage.
Due to poverty and illiteracy parents especially in rural areas think economically girls are a
burden for the family and to reduce the burden of the family arrange child marriage. As the
mental faculties of the children are not mature enough they cannot realize the consequences
of child marriage, rely on their parents, family and other relatives and they think that child



marriage will be a benefit for them. Parents inspire early marriage from the fear that the
amount of dowry will be high with the age of their daughters.

One of the major causes of the rapid increase in population in Bangladesh is early
marriage. It has adverse health, intellectual, and psychological impacts and it also causes
dropout from school. Marriage in an early age has the risk of sexually transmitted
diseases, unintended pregnancy, delivery of low birth weight babies, and maternal and
child death. It destroys a girl physically and mentally.

Now, write a paragraph on ‘The cause and effects of early marriage in Bangladesh’ in
150 words.

Here are some thought-provoking questions on early marriage that you may use to write the
paragraph.

e What are the primary factors of early marriage in Bangladesh?

e What are the problems with early marriage?

e How does early marriage affect the mental and emotional well-being of young

girls?

e How to stop early marriage?
10. Suppose you are Ratul. You have been shortlisted in the Creative Writing
category of the National Education Week competition this year. In this case, you will
need a forwarding letter.
10

Now write an application/ a letter to the Head Teacher of your school asking for a
forwarding letter.

Your writing must include the basic criteria of a formal letter.

(g) Answers to the objectively marked questions



1.A
1) a
i) b
iii) ¢
iv) C
vi)a
1. B
a) Chulsoo was respected by the villagers for his kindness and
fairness.
2. A
) False; The first rays of the sunlight made the grass sparkle like
diamonds.
i)  False; The birds charp harmoniously, creating melodious tune.
i)  True
Iv)  False; People were starting teir day slowly
v)  False, The distant sound of the temple bell added sacred touch to

the morning.

(h) Rubrics for marking item no 8: Writing a CV

10



CATEGORY 4 3 2 1
Career Detailed Detailed A few Objectives are
objectives objectives objectives objectives not clear.

written with no | written with written with
errors. few errors. few errors.
6 4 3 2
Other All expected Some expected | Few expected Information
information information are | information are | information are | and format
and format provided with | provided with provided with seem
clear format. clear format. clear format. inconsistent.

Rubrics for marking item no 9 : Writing a paragraph

CATEGORY 4 3 2 1
Title, topic Title, topic Title is ok but | Title is ok but | One of these is
sentence and | sentence and the topic the topic missing (title,
concluding concluding sentence and sentence and topic sentence,
sentence sentence are concluding concluding concluding
written properly | sentence are not | sentence are sentence)
clear with their | not clear with
purposes their purposes,
and text
contains errors.
6 4 3 2
Body Ideas are Ideas are Ideas are The paragraph
expressed in a expressed ina | somewhat seems to be a
clear and pretty clear organized, but | collection of
organized manner but the | are not very unrelated
fashion. It is organization clear. It takes sentences. It is
easy to figure could have more than one | very difficult to
out what it is been better. reading to figure out what
about. Cohesive | Cohesive figure out what | it is about.
devices are used | devices are it is about.
properly. used properly.
Rubrics for marking item no 10: Writing a formal letter
| CATEGORY | 4 | 3 | 2 1 |

11



Salutation, Salutation and | Salutation and Salutation and Salutation and

Closing and | closing and the | closing and the | closing and the | closing and the

Format use of formal | use of formal use of formal use of formal
tone, and tone, and proper | tone, and proper | tone, and
proper format. | format. (have 1 | format. (have 2 | proper format.
(have no error) errors) (have more
errors) than 2 errors)

6 4 3 2

Body Ideas are Ideas are Ideas are The letter
expressed ina | expressed in a somewhat seems to be a
clear and pretty clear organized, but collection of
organized manner but the | were not very unrelated
fashion. It is organization clear. It takes sentences. It is
easy to figure | could have been | more than one very difficult to
out what the better. reading to figure | figure out what

letter is about.

out what the
letter is about.

the letter is
about.

12
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